HERFERA/3)

(i 8h)
24 L & AH HAL % S O
As
AL L t=15cmPL N m 79.50 80
Con
AREEEI T T t=15cmLA T m — —
15IRAL Sy T m3 0.07 0.1
As+Con
SRR E BRI REA T nt 186.81 187
As+Con
EAERRE R HIRDA T nf 1,071.51 1,070
As
LR E R HIRDA T nt 946.16 946
As
AEERRE R EIREA T nt 563.04 563
FREBALSY T AsHR ol 4.76 5
FRBBALY T AsHi ol 37.83 38
FRBBALY T AsH ol 34.81 35
FRBBALSY T AsHR ol 21.20 21
FEBIAVSY T. Coli o 3.85 4
FRBIALY T Cotll ol 2.73 3
R BEE Ay AsHiL o 98.60 99
R B Ay Co¥t o 6.58 7
RS IE T RC-40 il AN nt 947.36 947
ApESEIE T RC-40 A Lem nt 531.27 531
BT FAEsRIEAs(13) | t=4cm nt 1,977.48 1,980
FET EAEFRIEAs(13) | t=4em ot 790.04 790
F—R—L AL EAEERIEAs(13) | t=3cm ot 41.30 41
X R T EEERES t=15cm m 248.00 248
DX R T Ay 75 t=30cm m 1.50 2
X R T Afh 75 t=45cm m 11.00 11
X[ T Hf FE T t=15cmfaH m 44.80 45
DX R T L F t=15cm#aE m 38.60 39




BEie

55%(2/3)

(HAR)
4 R fE B OB H L K B O K & 1t

As

SRAELIMT T t=15cmbL m
Con

AEE LT t=15ecmLL m 9.10 9
As, Co

A IR B B AU REA T nf 171.46 171
As, Co

A IR B B U RRA T nf 330.72 331
As, Co

A IR B B A RRA T nf 787.25 787
As, Co

A IR B B A RRA T ot

Py T AsBl m 4.54 5

PRV T AsHll nm 3.27 3

PRI, T AsBi m 23.62 24

PRI T AsHl m

FRBIALY T Cobl m 3.04 3

Py T Coit n 11.40 11

Py T Coit nm 10.92 11

Py T Cot m 11.01 11

R BRI Loy AsBil m 31.43 31

R BRI Loy Colfl m 36.37 36

R IET RC-40 EMRL nt 560.56 561

R IET RC-40 & Tem ni 300.79 301

FEL FAEBREAs(13) | t=4cm nt 502.18 502

FKE L HAEBRIEAs (13) | t=4cm nt 787.25 787

X #R T At 7o t=30cm m 2.00 2

X #R T At ST t=15cm#fiE m 11.80 12




BEMRTERQG/3)

4 PR &l | N R (VARE ¢ B O % R fi
WE+
R A t=19cm ni 4.56 5
&ALy T m 4.56 5
FKET F/ERRIEAs (13) | t=4cm nt 24.00 24
AT RC-40 t=15cm nf 24.00 24




BEEFHRA/3)

(i 8h)
o -
H W oA ik B aat

As

AL L t=15cmPA F 79.50 79.50
Con

AREEEIET T t=15cmPL T — —

15IRAL T 0.07 0.07
As+Con

SE IR E R I RDA T 186.81 186.81
As+Con

SRR BRI ROA T 1071.51 1071.51
As

SE IR E R I RDA T 946.16 946.16
As

SE IR E R I RDA T 563.04 563.04

FRBBALSY T AsHR 4.76 4.76

FRBIALY T AsH 37.83 37.83

FRBBALY T AsHi 34.81 34.81

FRBBALSY T AsHR 21.20 21.20

FRBBALSY T Codlt 3.85 3.85

FRBIALY T Cotil 2.73 2.73

R BEEYAL B AsHR 98.60 98.60

EERFEEYAL | Colll 6.58 6.58
HHEA 7L

RpEi&IE T RC-40 751.98 195.38 947.36
ek lem

RpEiIE T RC-40 524.37 6.90 531.27

EI =R FAsREAs(13) | 1977.48 1977.48

FET FEAEERIEAs(13) | 790.04 790.04
t=3cm

F—R—L AT FAmREAs(13) | 41.30 41.30
t=15cm

X R T [EEERES 248.00 248.00
t=30cm

X R T Ay 75 1.50 1.50
t=45cm

X R T Afh 75 11.00 11.00
t=15cm#fais

X[ T B FE T 33.00 11.8 44.80
t=15cm#ais

X R T L CF 38.60 38.60




BEEEFHFRQC/3)

(Hh)
TiE St A
4 i BBl R BMEFE

As

ARAE LT T t=15cmbL
Con

AL DT T t=15cmEA T 9.10 9.10
As, Co

AR E BRI ADA T 171.46 171.46
As, Co

AR E BRI ADA T 330.72 330.72
As, Co

SE IR B R A DA T 787.25 787.25
As, Co

SRR B R A T

FRUIALSY T AsBi 4.54 4.54

FRUIALSY T AsBi 3.27 3.27

FRBLALY T AsHl 23.62 23.62

PR T AsHl

FRBIALSy T Codl 3.04 3.04

FRUIALSY T Codll 11.40 11.40

FRBRALSy T Codil 10.92 10.92

FRBLALY T, Codll 11.01 11.01

HERBEIEM AL T AsHl 31.43 31.43

HEREEML S Colll 36.37 36.37
MM 7L

R E T RC-40 560.56 560.56
e Tem

AR E T RC-40 300.79 300.79
t=4cm

EI=N FAEBREAs(13) | 502.18 502.18
t=4cm

EI=AN FAEBREAs(13) | 787.25 787.25
t=30cm

DX T A 7o 2.00 2.00

DX T HE SF 11.80 11.80




BELFHREG/3)

wiE S A
4 i Fo | i A FE
e+
TR t=19cm 4.56 4.56
sy T 4.56 4.56
FET FABKEAs(13) | 24.00 24.00
BRAE T RC-40 t=15cm | 24.00 24.00




% =

(1iHiBh)
£ R G R g H = HAL % &
T AT 7 Vb
AR BT t=15cmEA T m 79.50
ary7)—r
EEE ARG T t=20cmLA T m —
AliZERR As+Con av7U—hk  38.54
EERHIRGA T TAZ7MN  117.34 + 30.93 m 186.81
AliZERR As+Con oy 7U—k  27.30
EEERHIRGA T TAZ7/ L 394.34 + 649.87 nt 1,071.51
EHEEN As-+Con
EEERHIRGA T TAZ77/Lh 303.20 + 642.96 nt 946.16
ErEEN As-+Con
EERHIRGA T TAZ77/L L 132.48 + 430.56 nt 563.04
AOEM AsHl 117.34 X 0.03 + 30.93 X 0.04
fAEt= | m’ 4.76
HaE Astl 394.34 X 0.03 + 649.87 X 0.04
Ait= m’ 37.83
BOEM AsHl 303.20 X 0.03 + 642.96 X 0.04
Hat= m’ 34.81
HadE Astl 132.48 X 0.03 + 430.56 X 0.04
fAEt= | m’ 21.20
38.54 X 0.10
ERTEME Condfl m* 3.85
27.30 X 0.10
ERTEME Condfl m® 2.73
RIEM Condl m* —
RIEME Condl m® —
RISy Ashi m® 98.60
FRALSY Condiil m’ 6.58




(i Bh)

4 G Rl 7 B B &
R 0.00 + 751.98 751.98
REFEiE 195.38
AR E BERR 2SN
(ffi2#t Lem) t=4cm 497.07 X 0.01 4.97

t=>5cm
t=6cm
t="Tcm
t=8cm
t=9cm
t=10cm 27.30 X 0.07 1.91
AFv= 6.88
Hita= 524.37
A IRV /A= 0.01
524.37
N BERR S hiUE
(ffi 244 Lem) t=4cm 6.90 X 0.01 0.07
t=>5cm
t=6cm
t="Tcm
t=8cm
t=9cm
t=10cm
AFv= 0.07
aita= 6.90
MRV /A= 0.01
6.90
e
(t=4cm) SR As (13) —
3=
(t=4cm) AR As (13) 1,977.48
3=
(t=4cm) AR As (13) 790.04
F—N—L AT
(t=3cm) BRI As (13) 41.30




¥ B 5 H &

(HAR)
C AT i K AN S
T AT 7 Vb
LSRRI t=15cmEL T m _
a7 —h
L ES t=20cmEA T m 9.10
AliZERR As+Con ar7U—k  30.37
EERHIRGA T TAZ7/h  110.63 + 30.46 m 171.46
AliZERR As+Con o 7)—k 224.04
EEERHIRGA T TAZ77 N 99.30 + 7.38 nt 330.72
AliZERR As+Con = 7)—k  109.20
EEERHIRGA T TAZ77/L bk 350.63 + 327.42 nt 787.25
ErEEN As-+Con
ERERHREGA T m —
AOEM AsHl 110.63 X 0.03 + 30.46 X 0.04
Hat= m’ 4.54
BOE Asi 99.30 X 0.03 + 7.38 X 0.04
Aat= m’ 3.27
BOEM AsHl 350.63 X 0.03 + 327.42 X 0.04
Aat= m’ 23.62
FRIEME AsBR
aEt= m’ —
30.37 X 0.10
ERTEME Condfl m* 3.04
113.98 X 0.10
ERTEME Condfl m® 11.40
109.20 X 0.10
FREME Condll m* 10.92
110.06 X 0.10
FREME Condill m* 11.01
RISy Ashi m’ 31.43
FRALSY Condiil m’ 36.37




(HL)

4 Ein &l G v HAL #H =
g iE 0.00 + 209.93 i 209.93
REFEiE m 350.63
N s BERZ AL U
(i 2#t Tem) t=4cm

t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm 191.59 X 0.07 = 13.41
aitv= 13.41
GitA= 191.59
R RV /A= 0.07
m 191.59
ANEEEIE e B
(i 2# Tem) t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm 109.20 X 0.07 = 7.64
GEtv= 7.64
GitA= 109.20
Hi A EHIEV /A= 0.07
m 109.20
EE]
(t=4cm) AR As (13) nf —
Kz
(t=4cm) PRI As (13) ot 502.18
xE
(t=4cm) PRI As (13) ot 787.25
Fr—R—L AT
(t=3cm) FIAEMRIEE As (13) nf —

10




1T

G EmMEHESE
T (85 Tk (Bih)
= A A E o WiﬁLIJF@EIE,I, AHEEL PO— ‘ H&ﬁLI-NEEIEI, AHEEL P 5 &
fR&EEESY (t=3cm) FEEIRY #JE(t=4cm) {REHR%ESY (t=3cm) BEHIRS #J&(t=4cm)
g 8 i A% 5 [T g 5 i A% JER g B [T GRS i A% g B [T JER
[fF E1% 5em BfrE945])

1 [No.o 0.90 3.60 4.50 1.4=B=3.0 BF0.13
No. 1 20.00 0.90 18.00 3.30 69.00 4.20 87.00 Confi % t =10cm

1 [No. 1 0.90 3.30 4.20 1.4=B=3.0 BHO0.13
No. 1 + 11.90 11.90 0.90 10.71 3.60 41.06 4.50 51.77 Confi % t =10cm

2 |No.0 0.90 2.50 3.40 3.0<B BH0.28
No. 1 20.00 0.90 18.00 2.45 49.50 3.35 67.50 Confi % t =10cm

2 |No. 1 0.90 2.45 3.35 3.0<B BH0.28
No. 2 20.00 0.90 18.00 2.20 46.50 3.10 64.50 Confi% t =10cm

2 |No. 2 0.90 2.20 3.10 3.0<B BH0.28
No. 2 + 6.00 6.00 0.90 5.40 2.20 13.20 3.10 18.60 9.10 | ConffiE t =10cm

3 |No. 0 0.90 1.70 2.60 1.4=B=3.0 BHO0.13
No. 0 + 15.60 15.60 0.90 14.04 1.80 27.30 2.70 41.34 Confi % t =10cm

3 |No.0 + 15.60 0.90 1.80 2.70 1.4=B=3.0 BHO0.13
No. 1 4.40 0.90 3.96 1.85 8.03 2.75 11.99 Confi % t =10cm

3 |No. 1 0.90 1.85 2.75 1.4=B=3.0 BHO0.13
No. 2+ 19.20 39.20 0.90 35.28 1.90 73.50 2.80 108.78 Confi % t =10cm

4 |No.0 1.10 3.35 4.45 1.4=B=3.0 BHO0.13
No. 0 + 3.00 3.00 1.10 3.30 1.55 7.35 2.65 10.65 Ashiitt t =4cm

4 |No.0 + 3.00 1.10 1.55 2.65 1.4=B=3.0 BHO0.13
No. 1 17.00 1.10 18.70 1.50 25.93 2.60 44.63 Astifiz t =4cm

4 |No. 1 1.10 1.50 2.60 1.4=B=3.0 BHO0.13
No. 2 20.00 1.10 22.00 1.45 29.50 2.55 51.50 Astifizé t =4cm

4 |No. 2 1.10 1.45 2.55 1.4=B=3.0 BHO0.13
No. 2 + 16.30 16.30 1.10 17.93 1.50 24.04 2.60 41.97 16.30 Astifizé t =4cm

4 |No.2 + 16.30 1.10 1.50 2.60 1.4=B=3.0 BHO0.13
No. 3 3.70 1.10 4.07 1.70 5.92 2.80 9.99 3.70 Ashitt t =4cm

4 |No.3 1.10 1.70 2.80 1.4=B=3.0 BHO0.13
No. 4 20.00 1.10 22.00 1.60 33.00 2.70 55.00 20.00 Astifiz t =4cm

4 |No. 4 1.10 1.60 2.70 1.4=B=3.0 BHO0.13
No.4 + 6.50 6.50 1.10 7.15 1.55 10.24 2.65 17.39 6.50 Ashiitt t =4cm

4 |No.4 + 650 1.10 1.55 2.65 1.4=B=3.0 BHO0.13
No. 4 + 13.00 6.50 1.10 7.15 1.65 10.40 2.75 17.55 6.50 Ashitt t =4cm
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Tk Gigh) Tk (BLah)
. e WﬁLIJF@EIE,I, AHEIAL P ‘ H&ﬁLI%F&EIEI, AHEEL 5 &
R &% 4y (t=3cm) HEERS £ JE(t=4cm) (R &E%E45 (t=3cm) -2 2 =P K& (t=4cm)
B B i g B o =1 i JER [T g B [T g B [

No. 4 + 13.00 1.10 1.65 2.75 1.4<B=3.0 BHO0.13
No. 5 7.00 1.10 7.70 1.75 11.90 2.85 Ashidt t =4cm
No. 5 1.10 1.75 2.85 1.4<B=3.0 BHO0.13
No. 6 20.00 1.10 22.00 1.60 33.50 2.70 Astifizé t =4cm
No. 6 1.10 1.60 2.70 1.4<B=3.0 BH0.13
No. 6 + 6.50 6.50 1.10 7.15 3.00 14.95 4.10 Ashiitt t =4cm
No. 6 + 6.50 1.10 3.00 4.10 1.4<B=3.0 BH0.13
No. 6 + 13.50 7.00 1.10 7.70 6.95 34.83 8.05 Astifiz t =4cm
No. 6 + 13.50 1.10 6.95 8.05 1.4<B=3.0 BH0.13
No. 7 6.50 1.10 7.15 6.05 42.25 7.15 Ashitt t =4cm
No. 7 1.10 6.05 7.15 1.4<B=3.0 BHO0.13
No. 7 + 16.00 16.00 1.10 17.60 1.55 60.80 2.65 Astifiz t =4cm
No. 7 + 16.00 1.10 1.55 2.65 1.4<B=3.0 BHO0.13
No. 8 4.00 1.10 4.40 1.40 5.90 2.50 Ashitt t =4cm
No. 8 1.10 1.40 2.50 1.4<B=3.0 BHO0.13
No. 9 20.00 1.10 22.00 1.50 29.00 2.60 Astiiz t =4cm
No. 9 1.10 1.50 2.60 1.4<B=3.0 BHO0.13
No. 10 20.00 1.10 22.00 1.90 34.00 3.00 Astifizé t =4cm
No. 10 1.10 1.90 3.00 1.4<B=3.0 BHO0.13
No. 10 + 5.00 5.00 1.10 5.50 2.05 9.88 3.15 Ashiitt t =4cm
No. 10 + 5.00 1.10 2.05 3.15 1.4<B=3.0 BHO0.13
No. 10 + 14.00 9.00 1.10 9.90 1.50 15.98 2.60 Ashitt t =4cm
No. 10 + 14.00 1.10 1.50 2.60 1.4<B=3.0 BHO0.13
No. 11 6.00 1.10 6.60 1.40 8.70 2.50 Ashitt t =4cm
No. 11 1.10 1.40 2.50 1.4<B=3.0 BHO0.13
No. 12 20.00 1.10 22.00 1.40 28.00 2.50 Astifiz t =4cm
No. 12 1.10 1.40 2.50 1.4<B=3.0 BHO0.13
No. 12 + 6.00 6.00 1.10 6.60 1.80 9.60 2.90 Ashidt t =4cm
No. 12 + 6.00 1.10 1.80 2.90 1.4<B=3.0 BH0.13
No. 12 + 8.00 2.00 1.10 2.20 2.70 4.50 3.80 3.80 Ashitt t =4cm
No. 0 1.00 4.00 5.00 1.4<B=3.0 BH0.28
No. 0 + 2.30 2.30 1.00 2.30 2.00 6.90 3.00 Ashitt t =4cm
No. 0 + 2.30 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 1 17.70 1.00 17.70 2.00 35.40 3.00 Ashitt t =4cm
No. 1 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 2 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
No. 2 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 3 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
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Tk Gigh) Tk (BLah)
. e WﬁLIJF@EIE,I, AHEIAL P ‘ H&ﬁLI-NEEIEI, AHEEL 5 &
R &% 4y (t=3cm) HEERS £ JE(t=4cm) (R &E%E45 (t=3cm) -2 2 =P K& (t=4cm)
B B i g B o =1 i JER [T g B [T g B [

No. 3 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 4 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
No. 4 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 5 20.00 1.00 20.00 2.00 40.00 3.00 Astifizé t =4cm
No. 5 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 6 20.00 1.00 20.00 2.00 40.00 3.00 Astifizé t =4cm
No. 6 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 7 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
No. 7 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 8 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
No. 8 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 9 20.00 1.00 20.00 2.00 40.00 3.00 Astifiz t =4cm
No. 9 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 10 20.00 1.00 20.00 2.00 40.00 3.00 Astifizé t =4cm
No. 10 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 10 17.40 17.40 1.00 17.40 2.00 34.80 3.00 Astiiz t =4cm
No. 10 + 17.40 1.00 2.00 3.00 1.4<B=3.0 BH0.28
No. 11 2.60 1.00 2.60 4.40 8.32 5.40 Ashiitt t =4cm
No. 11 1.00 4.40 5.40 1.4<B=3.0 BH0.28
No. 11 0.60 0.60 1.00 0.60 5.00 2.82 6.00 Ashiitt t =4cm
No. 0 0.00 3.0<B BHO.28
No. 0 + 3.00 3.00 1.00 1.50 2.75 4.13 3.75 Ashitt t =4cm
No. 0 + 3.00 1.00 2.50 3.50 3.0<B BHO.28
No. 0 + 12.30 9.30 1.00 9.30 2.50 23.25 3.50 Ashiitt t =4cm
No. 0 + 12.30 1.00 2.50 3.50 3.0<B BHO.28
No. 1 7.70 1.00 7.70 2.30 18.48 3.30 Astifiz t =4cm
No. 1 1.00 2.30 3.30 3.0<B BHO.28
No. 2 20.00 1.00 20.00 2.30 46.00 3.30 Astifizé t =4cm
No. 2 1.00 2.30 3.30 3.0<B BHO.28
No. 2 + 6.90 6.90 1.00 6.90 2.30 15.87 3.30 Ashitt t =4cm
No. 2 + 6.90 1.00 2.30 3.30 1.4<B=3.0 BH0.08
No. 3 13.10 1.00 13.10 0.50 18.34 1.50 Ashitt t =4cm
No. 3 1.00 0.50 1.50 1.4<B=3.0 BH0.08
No.3 + 1.00 1.00 1.00 1.00 0.40 0.45 1.40 Ashitt t =4cm
No. 3 + 1.00 1.00 0.40 1.40 1.4<B=3.0 BH0.08
No. 3 + 4.80 3.80 1.00 3.80 0.70 2.09 1.70 Ashiitt t =4cm
No. 3 + 4.80 1.00 0.70 1.70 1.4<B=3.0 BHO0.08
No. 3 + 13.50 8.70 1.00 8.70 0.60 5.66 1.60 Ashitt t =4cm
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= A A E o WﬁLIJFEEIE,I, AHEEL PO— ‘ H&ﬁLI-KEEEIEI, AHEEL P 5 &
fR&EEESY (t=3cm) FEEIRY #JE(t=4cm) {REHR%ESY (t=3cm) BEHIRS #J&(t=4cm)
=t i fE g 5 [T g 5 i A% JER g B [T GRS i A% g B [T HER

5-2 [No. 3 + 13.50 1.00 0.60 1.60 1.4=B=3.0 BH0.08
No. 4 6.50 1.00 6.50 0.45 3.41 1.45 9.91 Astifiz t =4cm

5-2 [No. 4 1.00 0.45 1.45 1.4=B=3.0 BHO0.08
No. 4 + 2.30 2.30 1.00 2.30 0.40 0.98 1.40 3.28 Astifizé t =4cm

5-2 [No.4 + 2.30 1.00 0.40 1.40 1.4=B=3.0 BHO0.08
No. 5 17.70 1.00 17.70 0.50 7.97 1.50 25.67 Ashiitt t =4cm

5-2 [No. 5 1.00 0.50 1.50 1.4=B=3.0 BHO0.08
No.5 + 6.60 6.60 1.00 6.60 0.40 2.97 1.40 9.57 Ashitt t =4cm

52 [No. 5 + 6.60 1.00 0.40 1.40 1.4=B=3.0 BHO0.08
No. 5 + 12.80 6.20 1.00 6.20 0.20 1.86 1.20 8.06 Ashitt t =4cm

5-2 [No. 5 + 12.80 1.00 0.20 1.20 1.4=B=3.0 BHO0.08
No. 5 + 17.00 4.20 1.00 4.20 0.55 1.58 1.55 5.78 Ashitt t =4cm

5-2 [No. 5 + 17.00 1.00 0.55 1.55 1.4=B=3.0 BHO0.08
No. 6 3.00 1.00 3.00 0.60 1.73 1.60 4.73 Ashitt t =4cm

5-2 [No. 6 1.00 0.60 1.60 1.4=B=3.0 BHO0.08
No. 6 + 6.00 6.00 1.00 6.00 0.75 4.05 1.75 10.05 Ashitt t =4em

5-2 [No. 6 + 6.00 1.00 0.75 1.75 1.4=B=3.0 BHO0.08
No. 6 + 12.30 6.30 1.00 6.30 0.65 4.41 1.65 10.71 Ashiitt t =4cm

5-2 [No. 6 + 12.30 1.00 0.65 1.65 1.4=B=3.0 BH0.08
No. 6 + 19.20 6.90 1.00 6.90 0.35 3.45 1.35 10.35 Ashiitt t =4cm

5-2 [No. 6 + 19.20 1.00 0.80 1.80 1.4=B=3.0 BHO0.08
No. 7 0.80 1.00 0.80 1.10 0.76 2.10 1.56 Ashitt t =4cm

5-2 [No. 7 1.00 1.10 2.10 1.4=B=3.0 BHO0.08
No. 7 + 1.20 1.20 1.00 1.20 1.70 1.68 2.70 2.88 Ashitt t =4cm

6 |No.o0 1.10 2.50 3.60 1.4=B=3.0 BHO0.28
No. 0 + 1.00 1.00 1.10 1.10 2.00 2.25 3.10 3.35 Astifiz t =4cm

6 |No.0 + 1.00 1.10 2.00 3.10 1.4=B=3.0 BHO0.28
No. 1 19.00 1.10 20.90 2.10 38.95 3.20 59.85 Astifizé t =4cm

6 |No. 1 1.10 2.10 3.20 1.4=B=3.0 BHO0.13
No.1 + 5.00 5.00 1.10 5.50 2.10 10.50 3.20 16.00 Astifizé t =4cm

6 |No.1 + 5.00 1.10 0.90 2.00 1.4=B=3.0 BHO0.13
No. 2 15.00 1.10 16.50 0.95 13.88 2.05 30.38 Astifizé t =4cm

6 |No. 2 1.10 0.95 2.05 1.4=B=3.0 BHO0.13
No. 3 20.00 1.10 22.00 1.40 23.50 2.50 45.50 Astifiz t =4cm

6 |No.3 1.10 1.40 2.50 1.4=B=3.0 BHO0.13
No. 3 + 5.00 5.00 1.10 5.50 1.55 7.38 2.65 12.88 Ashiitt t =4cm

6 |No.3 + 5.00 1.10 1.55 2.65 1.4=B=3.0 BHO0.13
No. 3 + 15.00 10.00 1.10 11.00 1.50 15.25 2.60 26.25 Confi % t =10cm




g1

WO m M

i

T (85 Tk (Bih)
= A A E o H&ﬁLI-K@EIE,I, AHEEL PO— ‘ H&ﬁLI-NEEIEI/ AHEEL P 5 &
fR&EEESY (t=3cm) FEEIRY #JE(t=4cm) {REHR%ESY (t=3cm) BEHIRS #J&(t=4cm)
g 8 i A% 5 [T g 5 i A% JER g B [T GRS i A% g B [T HER

6 |No.3 + 15.00 1.10 1.50 2.60 1.4=B=3.0 BHO0.13
No. 4 5.00 1.10 5.50 1.30 7.00 2.40 12.50 Confi t =10cm

6 |No. 4 1.10 1.30 2.40 1.4=B=3.0 BHO0.13
No. 4 + 850 8.50 1.10 9.35 1.10 10.20 2.20 19.55 Confi % t =10cm

7 |INo. 0 1.00 7.20 8.20 3.0<B BHO0.13
No. 0 + 2.30 2.30 1.00 2.30 2.00 10.58 3.00 12.88 Astifiz t =4cm

7 INo.0 + 230 1.00 2.00 3.00 1.4=B=3.0 BHO0.13
No. 1 17.70 1.00 17.70 1.60 31.86 2.60 49.56 17.70 Ashitt t =4cm

7 INo. 1 1.00 1.60 2.60 1.4=B=3.0 BHO0.13
No. 1 + 5.00 5.00 1.00 5.00 1.70 8.25 2.70 13.25 5.00 Astifiz t =4cm

7 INo.1 + 5.00 1.00 1.70 2.70 1.4=B=3.0 BHO0.13
No. 2 15.00 1.00 15.00 1.45 23.63 2.45 38.63 Astifizé t =4cm

7 No. 2 1.00 1.45 2.45 1.4=B=3.0 BHO0.13
No. 3 20.00 1.00 20.00 1.60 30.50 2.60 50.50 Astiiz t =4cm

7 |No. 3 1.00 1.60 2.60 1.4=B=3.0 BHO0.13
No. 3 + 3.50 3.50 1.00 3.50 2.40 7.00 3.40 10.50 Ashiitt t =4cm

7 |No.3 + 350 1.00 2.40 3.40 3.0<B BH0.28
No. 3 + 17.00 13.50 1.00 13.50 3.30 38.48 4.30 51.98 Astifiz t =4cm

7 |No.3 + 17.00 1.00 3.30 4.30 3.0<B BH0.28
No. 3 + 18.70 1.70 1.00 1.70 5.30 7.31 6.30 9.01 Ashitt t =4cm

9 |No.0 1.80 1.80 1.4=B=3.0 BHO0.08
No. 0 + 2.00 2.00 1.10 2.90 0.60 0.60 1.70 3.50 Confi % t =10cm

9 [No.0 + 2.00 1.10 0.60 1.70 1.4=B=3.0 BH0.08
No. 1 18.00 1.10 19.80 0.60 10.80 1.70 30.60 Confi % t =10cm

9 |No. 1 1.10 0.60 1.70 1.4=B=3.0 BHO0.08
No.1 + 230 2.30 1.10 2.53 0.60 1.38 1.70 3.91 Confi % t =10cm

9 |No.1 + 230 1.10 0.60 1.70 1.4=B=3.0 BHO0.08
No.1 + 7.30 5.00 1.10 5.50 0.90 3.75 2.00 9.25 Confi % t =10cm

9 [No.1 + 7.30 1.10 0.90 2.00 1.4=B=3.0 BHO0.08
No.1 + 9.60 2.30 1.10 2.53 1.10 2.30 2.20 4.83 Confi % t =10cm

9 |No.1 + 9.60 1.10 1.10 2.20 1.4=B=3.0 BHO0.08
No. 1 + 14.40 4.80 1.10 5.28 0.75 4.44 1.85 9.72 Confi % t =10cm

9 |No.1 + 14.40 1.10 0.75 1.85 1.4=B=3.0 BHO0.08
No. 2 5.60 1.40 7.00 0.60 3.78 2.00 10.78 Confi % t =10cm

9 |No. 2 1.40 0.60 2.00 1.4=B=3.0 BHO0.08
No. 2 + 7.60 7.60 2.10 13.30 2.28 2.10 15.58 Confi % t =10cm
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9 |No.2 + 7.60 2.10 2.10 1.4=B=3.0 BH0.08
No. 2+ 17.00 9.40 1.30 15.98 0.55 2.59 1.85 18.57 Confi t =10cm

9 |No.2 + 17.00 1.30 0.55 1.85 1.4=B=3.0 BH0.08
No. 3 3.00 1.10 3.60 1.30 2.78 2.40 6.38 Confi % t =10cm

9 |No.3 1.10 1.30 2.40 1.4=B=3.0 BH0.08
No. 3 + 3.20 3.20 1.10 3.52 1.10 3.84 2.20 7.36 Confi % t =10cm

9 |No.3 + 3.20 1.10 1.10 2.20 1.4=B=3.0 BH0.08
No. 3 + 7.30 4.10 1.10 4.51 0.40 3.08 1.50 7.59 Confi % t =10cm

9 |No.3 + 7.30 1.10 0.40 1.50 1.4=B=3.0 BHO0.08
No. 3 + 17.50 10.20 1.20 11.73 0.50 4.59 1.70 16.32 Confi % t =10cm

9 |No.3 + 17.50 1.20 0.50 1.70 1.4=B=3.0 BHO0.08
No. 4 2.50 1.20 3.00 0.50 1.25 1.70 4.25 Confi% t =10cm

9 |No. 4 1.20 0.50 1.70 1.4=B=3.0 BHO0.08
No. 5 20.00 1.10 23.00 0.90 14.00 2.00 37.00 Confi % t =10cm

9 |No.5 1.10 0.90 2.00 1.4=B=3.0 BHO0.08
No.5 + 7.00 7.00 1.20 8.05 0.80 5.95 2.00 14.00 Confi % t =10cm

9 |No.5 + 7.00 1.20 0.80 2.00 1.4=B=3.0 BHO0.08
No.5 + 8.20 1.20 1.20 1.44 1.70 1.50 2.90 2.94 Confi % t =10cm

10 |No. 0 1.20 3.90 5.10 3.0<B BH
No. 1 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astifiz t =4cm

10 |No. 1 1.20 3.90 5.10 3.0<B BH
No. 2 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astifiz t =4cm

10 [No. 2 1.20 3.90 5.10 3.0<B BH
No. 3 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astifiz t =4cm

10 [No. 3 1.20 3.90 5.10 3.0<B BH
No. 4 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astifiz t =4cm

10 |No. 4 1.20 3.90 5.10 3.0<B BH
No. 5 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astifizé t =4cm

10 [No. 5 1.20 3.90 5.10 3.0<B BH
No. 5 + 10.40 10.40 1.20 12.48 3.90 40.56 5.10 53.04 Astifizé t =4cm

11 [No. 0 1.70 1.80 3.50 3.0<B BH0.28
No. 1 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

11 |No. 1 1.70 1.80 3.50 3.0<B BH0.28
No. 2 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashiitt t =4cm

i1 [No. 2 1.70 1.80 3.50 3.0<B BH0.28
No. 2 + 16.20 16.20 1.70 27.54 1.80 29.16 3.50 56.70 Ashitt t =4cm
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11 |No. 2 + 16.20 1.70 1.80 3.50 3.0<B BH0.28
No. 2 + 17.70 1.50 1.70 2.55 1.80 2.70 3.50 5.25 Ashidt t =4cm

i1 |No. 2 + 17.70 1.70 1.80 3.50 3.0<B BH0.28
No. 2+ 19.50 1.80 1.70 3.06 1.80 3.24 3.50 6.30 Ashitt t =4cm

i1 |No. 2 + 19.50 1.70 1.80 3.50 3.0<B BH0.28
No. 3 0.50 1.70 0.85 1.80 0.90 3.50 1.75 Ashiitt t =4cm

i1 |No. 3 1.70 1.80 3.50 3.0<B BH0.28
No. 4 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

11 |No. 4 1.70 1.80 3.50 3.0<B BH0.28
No. 5 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

i1 |No. 5 1.70 1.80 3.50 3.0<B BH0.28
No. 6 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

i1 |No. 6 1.70 1.80 3.50 3.0<B BH0.28
No. 7 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

i1 |No. 7 1.70 1.80 3.50 3.0<B BH0.28
No. 8 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashitt t =4cm

11 |No. 8 1.70 1.80 3.50 3.0<B BH0.28
No. 9 20.00 1.70 34.00 1.80 36.00 3.50 70.00 Ashiitt t =4cm

11 |No. 9 1.70 1.80 3.50 3.0<B BH0.28
No.9 + 1.90 1.90 1.70 3.23 1.80 3.42 3.50 6.65 Ashiitt t =4cm
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Mok mEE R REE
Tk (#58h) Tk (BA)
HREEL T- TRREEIE T AT ; BURL L - RREEEIE T AHEIRT
Ix B R BB o SHERLIMT ; v ARILLIMT i} =
R34y (t=3cm) HEERSY #JB(t=4cm) &3S (t=3cm) HEHIRS #JE(t=4cm)
g B [ & B [ g B [ JER g B [T g B i FH g B i FH R
9.10
A Ff Al O 79.50
38.54 30.37
BH 117.34 30.93 110.63 30.46 [~
A
27.30 224.04 “FEE (Conl#ih)
BH 394.34 649.87 99.30 7.38 TE: (Asfit)
109.20
BH 303.20 642.96 350.63 327.42
BH 132.48 430.56
M THE R
L= 1314.60m B<1.4
Hiigh
L= 878.80m | 1.4=B=3.0 751.98 1,225.50 1,977.48 209.93 292.25 502.18
H
L= 435.80m 3.0<B 195.38 594.66 790.04 350.63 436.62 787.25
= 3 = Bt (ConfifiZk =
BERY SRESRRREEL WARE BN THEE PNRE
‘ t =4cm t =5cm t =6cm t =T7cm t =8cm t =9cm t =10cm t =4cm t =5cm t =6cm t =T7cm t =8cm t =9cm t =10cm
(i) € )
BH B<1.4
27.30
BH 490.17 1.4=B=3.0 497.07 27.30
BH 6.90 3.0<B
BH
t =4cm t =5cm t =6cm t =7cm t =8cm t =9cm =10cm t =4cm t =5cm t =6cm t =7cm t =8cm t =9cm t =10cm
(BA) (i)
BH B<1.4
191.59
BH 1.4=B=3.0 191.59
109.20
BH 3.0<B 109.20
BH
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[ EIX 5em BifrEd5]

No. 0 1.40 1.4=B=3.0 BHO0.08
No. 0 9.40 9.40 1.80 15.04 Confi %
No. 0 9.40 1.80 1.4=B=3.0 BHO0.08
No. 1 10.60 1.90 19.61 Confi %
No. 1 1.90 1.4=B=3.0 BHO0.08
No. 1 3.50 3.50 1.90 6.65 Confi %
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A7 A
B (Confit)
BL T B (Ashiiz)
BH
BH
i THE &
L= 23.50m B<1.4
8D
L= 23.50m | 1.4=B=3.0 41.30
Ll
L= 3.0<B
_ N _ 2 Bl =
BERY SRESRRREEL WARE Th o) THEE PNRE
‘ t =4cm t =bcm t =6cm t =7cm t =8cm t =9cm t =10cm t =4cm t =5cm t =6cm t =7cm t =8cm t =9cm t =10cm
(+#8h) (##8h)
AT B<1.4
BH 1.4=B=3.0
BH 3.0<B
BH
t =4cm t =bcm t =6cm t =T7cm t =8cm t =9cm t =10cm t =4cm t =bcm t =6cm t =T7cm t =8cm t =9cm t =10cm
(BAm) (BAh)
A B<1.4
BH 1.4=B=3.0
BH 3.0<B
BH
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Mo EfE | t=15ecm |L = 248.0
m
= 248.0
4TX
Hfa-P7Z t=30cm |L = 1.5
m
= 1.5
4TIX
—— t=45cm | L 11.0
m
11.0
SRRy e ! t=15cm | L 0.0
10X 10 LXK m
M50 5 [t=15cm ¥ %[ L = 165 + 16.5 33.0
4TX
Ff . XCF [t=15cm # 5| L =  11.8
m
11.8
4T X 4T X m
Wifh e 307 [t=16em 8 5| L = 19.3 4+ 19.3 38.6
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m
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FEh PR H ) t=19cm V=1.5X16.0X0. 19 4.56 5
m
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m
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AR BRI EAST3 m
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RC-40 m
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fi THER (m) S EIWAES (m) &5t
T AT 7 )V NS R 0.023 79.5 m X 0.04 = 0.07 m3
T AT 7 )V NER SR R R 0.023 m X = 0.00 m3
T AT 7 )V NER SR R R 0.023 m X = 0.00 m3
T AT 7 )V NER SRR R 0.023 m X = 0.00 m3
T AT 7 )V NER S R R 0.023 m X = 0.00 m3
T AT 7 )L NER SRR R 0.023 m X = 0.00 m3

0.07 m3




